ﬂh Vertical Division with a Helper Grid Name:

Solve each problem. Answers
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Vertica Division with a Helper Grid Name: Answer Key
Solve each problem. Answers
1) 24511 2 3018 13r49
4lo81 26036 51712 24511
8 o 9 3018
18 00 71
16 0 51 13149
21 03 202
20 E £3 135
! 16 49 317511
16
0 3r36
4) 135 5 31751 3136
253375 2[6351 60[216 200124
0 6 0 17
33 03 21
25 2 0 4
87 15 216
75 14 180 22311
125 11 36 2464 11
125 10
0 1 27
7) 206124 8) 17 4
255174 76/1292 9[36
0 0 0
51 12 36
50 0 36
17 129 0
0 76
174 532
150 532
24 0
100 223n1 1) 2464r1 27
2[a47 2[4929 3ls1
4 6
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Vertical Division with a Helper Grid Name:
Solve each problem. Answers
135 3018 206 r24
13r49 4 245r1
3136 317/5r1 17
1) 2) 3)
41981 26036 51(712
4) 5) 6)
25|13375 216351 60|1216
7) 8) 9)
25[5174 76[1292 936
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